d Nth

107°

1077

Ratio to ATLAS

0.5

7000 GeV pp Underlylng Event
_| | T T T T T TTT | T T T T | |_ }L‘J
Sum ET (0.8 < h| < 1.6, "™ > 0.5(0.2) GeV, E‘Tl‘2 > 20 GeV, W] < 2:5}
= =
— <
— —
- N
s % B g =2
- . Soo
n = 1
— u __02:
.
= s =
— ] =
— ™M
_ — &
= ¥-- =Rt
- ‘E SIATLAS =
- @ o- Py |a6&?£390 19
| —.g- Pythia 6.428 3%*\.% =2
=~ %- Pythia 6.428 392 e, 3%
C --+-- Pythia 6.428 396 B 1<
= --x-- Pythia 6.428 397 e, =r=
= ¥ Pythia 6.428 398 =8 =k
- )]

Js|
—— ==
= 5 O
o T T RO RN (NSRS SO AP NP U AU N SRNPRNT SRR NN SO SR SRR MR =
:l T T T T | T T T T | T T T T | T T T T |:
— =2

1
| —0.5

| 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 "

0 10 20 30 40

sum E_ [GeV]



	Contents
	Page 1


